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Shri Jain P G College, Bikaner

C-102

B.Com. (Part I) Examination, 2018
ACCOUNTANCY & BUSINESS STATISTICS
First Paper

(Financial Accounting)

Time allowed : Three hours
Maximum Marks - 1010
Section-A (Marks : 2 > 10 = 20)

Answer all ten questions (Answer limit 50
words). Each question carries 2 marks.
WOZ-37 ( 3TF : 2 x10=20)
o @9 9vEl & I STl (3T S0
) | W W 2 STR| HT T
Section-B (Marks : 8 x 5 =40)

Answer five questions out of seven (Answer timit
200 words). Each Question carrics § mards.

Wug-A (3T&F : 8> 5 =40)
e W 4 =) e 9vEl f SW oA (IW
A1 200 YRR | TSE WO S 3iE @1 T
Section — C (Marks : 20 x 2 = 40]
Answer any two questions out of four. (Answer
limit 500 words). Each question carrics 20
marks.
WUZ-| (3 @ 20 x 2= 40)
g ¥ 4 fFa QN ove @ Taw dfan (I
T 500 IE) Weld WA 20 3w w1 B
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1.

SECTION-A
gus-3T

Attempt all questions.

ferafafaa gl el BT SR SITg |

(1)

(ii)

(iii)

(iv)

(v)

(vi)

(vii)

(vill}

{iz)

(X}

State the difference between Book-keeping and §

Accounting. [2]
TRIGYTAT U4 ofdieh] H 3= aarsy |

What is ‘Average clause’ ? [2]
What do you mean by ‘forfeiture of shares’ ? [2]

e @ BYOT | MY FAT FHAA &7 :
State any two points of difference between Share and
Debenture, [2]
3% T FOIF H B 81 IR A |

Explain the difference and similarity between ‘Reality”
and ‘Rent” ? [2]
it e Ud fawrr # amR g gEEr aaey’

Who may be declared Insolvent ? (2]
feenfermn @ wifaa & o 87 )
[2

What is Sectional Balancing Ledger ? Explain.
aifta w=qers @ 4d) @0 7 [aEEd |
What do you mean by ‘Cum-interest Purchase ,;;;c]l
Sale” of securitics ?

sfmgforlt % amy wfea w v famw @ omd @
wrgRt 7 3
What 1s the meaning of unrealised Profit 7 2.
o oadE BT ETH R A AT 87

When Branch Stock Rescrve Acentnt is arepared 7 100
When Branch Stock Reserve Account is prepar i

WEA] Sl HAN TAL A i 7

i ' SECTION-B
Qug-g

2. S8 Jalpari commenced 4 Voyage on 1 July, 2017 from
Mumbai to Chennaj back. The voyage was completed on 31
August, 2017. It carried a consignment of cotton textiles on its
Qutward journey and of Jute and tea on its return journey. The
ship was insured at an annua premium of 330,000, Fr(;m the

following particulars draw up voyage account : 8]
Coal purchased 70,000 Bunker 4.000
Stores Supplied 56,000 Captain Expenses 1.500
Harbour charges 3,500 Interest Paid 500
Lighterage 2,500 Wages 16,0600
Depreciation (annual) 96,000 Sundry Expenses 5,000

Freight Earned (outward) 1,20,000

Freight Earned (inward) 1,00,000

Passage money 6,000

Primage is 5% on freight

Address commission @5% on outward and 6% on inward
freight.

The Manager is entitled to 10% commission on the net profit

carned after charging such commission. Stores & Coal in
hand worth 10,600 on the conclusion of the journey.

1 S[el1E, 2017 @1 TH.O6. Fa9G 4 §9% & 91 @ 3R
Al T @1 U ) S @ 4 31 3, 2017
#1 gl 84| 5% e § I eaweRd @ @A 8 ad
4T 3 Al ann oA SR ge @ wEE A T
STEIS 1 30,000 %, & artie Wifas @ 4 &va g A
srfafae faaeen A arn @y dur @i

- ; 4,000
AT @ 70,000 9@
1,500
@ g 56,000 FEF T
' 500
r” UGG
Y Y 3,500 @ma e PTO
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arm 2,500 CoE| o 16,05‘0 : , : ,9*
3 . 4. 4" Wha 1 M ‘ o T
AT (arfiep) 96,000 fafde ’ 5,000 hy ditEfls statement of.afTalrs' ? Explain the items incorporated 3
. . 190,006 erent lists mentioned in this statement. Give a specimen :
31 TR (ﬂlm) eX : of statement of affairs with imaginary figures. 18] f
arg FAE (@) 1,00000 - . sﬂﬁr—ﬁaw frd wat 82 g1 R i Ay i '
A 6,000 i B mmmﬁé‘rm@' R N ] i
grfis 9138 9, 4 ) 3 . 2
grafaa arst @l 5% @ ) » . 5. From the following particulars prepare total Debtor Account :
s W@ W 5% 9lY rSeIC W 6% DI W (8]
@i | ' ®
i . ; Debtors’ balance (opening) 49.850
e FAgE HIF © dre P ¢ P& o tr\r‘ 104 Credit sales 40,400
e fean W &) A @ i ROERRY w g Cash sales 18,080
) Cash purchase 15,930
HIYAT 10,600%, BT AT | Received from debtor 44,100
3 Mahadev Ltd. issued T1,00.000 cquity shares of ¥T10 cach ata Discount allowed to debtor 1,540
premium of 10% payable as : Application 33, Allou-'ncnl (].’; e - 1,795
(including premium) first call 2.50 and second and final ca BIR received 3,500
22.50. Applications were received for 1,25,000 share:; : B/R dishonoured : . 325
Allotment was made pro-rata to all the applicants and ;x?‘fon Interest charged 40
application moncy being applied towards the amounl'1 IUL i Bad debts ,‘492
allotment. Ram to whom 2000 shares were allotted, f?‘(l) rﬁ(:)ig: 7 Allowance 1,60
the amount due on II call. His sharcs were ) o & e S R
Journalise the above transaction in the books of company: 2 ferferfiaa T 3 o
WEIed for, ¥ 10%. arel 1,00,000 WHAT L 10% A = g .
Prifi sl S 591 TR 27 o . SR WgerT (e Py
T W 3%, aMded W 3%, (Mfiga afed), 1‘% 5 ford wur fagl 16,080
250%, fgfa g siftm AT @R 2.50%. | 1,25,000 e b fash! e
M T grey gy | W) SIS Bl JATgA 1 T e @ "
T | - @ e i e eI e s o 44,1 |
W 4 AT @ s o s foar | e fore el Foft | | 1,640 ,
W&Wﬁsmwm@?ﬁnmmwﬁﬁgmﬁ: 39aR @ B F A 795 |
;@T S A Tl R fore g | SO e : T AT P.T.0
ST gfaferai @ifory | g 102 (5) g ,‘

C-102 (4)
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/R et fad
/R RIS
aqral el
@ J
el
Write short notes o the following :
preferfad TR Sfer fwfora feRay:
(a)  Going concern concept
T] AR &) FARET
(b)  Scparatc entity concept
gords AReId AR

(¢)  Dual-Aspect concept

fg-uer raurRon

7. M/s Amer Bros. sends goods to Bran
following particulars of a branch, prep
Debtor’s method to find out branch profit:

Goods sent to branch at cost

Goods returned from branch at cost
Expenses paid by H.O. (Head office)
Cash received from Branch

Closing stock with Branch

Opening stock with Branch

Opening Branch debtor

Closing Branch debtor

Opening cash balance with branch
Closing cash balance with branch

" C-102 (6)

- 1,605

ches at cost. From the

are Branch Account by
(8] 8.  Sharma Bros have three departments. The Purchase and sales

" 45,000

340

325
40
1,495

(81

®
50,000
3,000
10.000
45,000
40,000 |

10,000
17,000

5,000
40,000

bﬂ?ﬁf 1 30R gad arf oy @ T

AT g f Yot &
e, & PR vl @ grey ey Ak @& v
q .

A BT 2R 9oy g vy T c
AT qrET e g qrRe o
HHT e g g fre o o o
URAT N WIS T .
e S WA FARKT efep ::000
MGl & A1er aNafr veie 45’222
M oA oy 10’000
AT oy ol 17:000
ARET & 1T I Sy doig 5,000
AT B A FANHT DY dorg 40,000

data for the year ended 31 March, 2017 are given below :  [8]
Deptt. A DeptttB Deptt. C

(units) (units) (units)
Purchases at ¥1,00,000 1000 2000 2400
Opening Stock 120 80 152
Sales 1020 1920 2456
Selling price per unit 20 72230 325

% 15t
al trading account for the year ended 31°

Prepare department :
he rate of gross profit is the sam¢

March, 2017 assuming that t
in each casc.

oAt god @ dF e €1 31 Hﬁf,zowzﬁ‘rwsﬁfﬁé
ﬁﬁm@mﬁmﬁmmm%‘:

p.T.0
-102 (7)
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Deptt. A Deptt.B Dcp‘:t. 0

“; 21J€ @ 9 2016 B R 120008 sy @i Rerw &
@) (R (&TE)

- 24,000%. | 9191 UMY 42 240 AT Rer &g 2
2409, 0009, | 3T
.. mﬁﬁg&a&(1qaﬁ1waa)aﬁﬁﬁ75,ooom

51.00,000 T TS 1000 2000 2900 B8 I Y orafly 4 ) 22,5000, | e Al (1 S, 2016

o i 120 80 - . 152 | 3 7, 2017 Td) 2,20,000%. MARTT =T 4,000%. 3R
N 1020 1920 2456 AT Ror 2rdi & qwa 1,500%. | T ke e & ROy
ﬁ?ﬁ 720 722.50 : 725 m @ AEIN famr Pact 12,500%. gél 3T ﬂ’gﬂe{ B T
wfy e fea 1ol 4 : 5006.2?|Erﬁf2017t‘iﬁmﬁzouﬁmaqﬁ;sﬁqmam

szﬁﬂwmgmmmﬂaﬁmzﬁ

. R A 2 ufow qfe; @ omem ¥ am @ A B el @)
mﬁﬁmﬁwﬁumwwml

UM HIFAT |

: 10. The balance sheet of JIO limited as on 31 March, 2017 is as

SECTION-C follow : [20]

Qus-4 Balance Sheet of JIO Ltd. as on 31" March, 2017

9. Accounting year ended on 31 December, 2016 with turnover

Particular Amount
of 2.00,000. Fire takes place on June 1, 27017. Perllot(\il of I. EQUITY AND LIABILITIES :
interruption being 5 months A(fr(()]r.n lt Jun€1:., H?Sl’é rt;:omhsov' (1) Shareholder’s fund :
- ' i o polic :

2017). Period of indemnity according to policy . . (a) Share capital :
Net profit for 2016 312,000 and 1-nsurecii sttanc(ljl,ng 2:2’;:2 5,000 equity shares of ¥100 each fully paid-up 5.00.000
#24.000. Sum insured ¥42,240. Uninsured standing ‘ o g
%2,000; standard turnover, i.e. for corresponding months’of 3,000 redeemable preference share of 3100 o
interruption (from 1 June to 1% Nov.) in the year preced{ng each fully paid up A
the fire, ¥75.000. Turnover in the period of mterslllpt“’n ' (b) Reserve & surplus :
%22,500. Annual turnover (From 1* June, 2016 to 31 M.aYs: Capital reserve 1.50,000
2017) ¥2,20,000. Additional expenses 4,000, with a saving 1.50.000

insur i for this additional General reserve
of insured standing charge ¥1,500. But for l 1.10.000
cxpenditure, the turnover after the fire would have been Oﬂg. P & L Account
%12,500. The expenses on putting the fire out were 0?‘50 d (2) Current Liabilities : _ -
During 2017 increase in turnover is expected to be 20% an (a) Trade payables : Sundry creditors R i
increase in G.P. rate is expected by 2% [20] Total 1400000
(?alcfulate amount of claim for loss of profit. : T, ASSETS s 11.70,000
AT 9 %Y ey 1) 31 fewER, 2016 @Y A 2,00'001 (1) Fixed Assets '
T %11 S 2017, 1 0T @l | erauTE S dTel L (6 (2) Current Assels 2,30,000
\—Iﬁ,\ 2017 9§ HgwR, 2017)/&1%@ ol @ AN Cash at Bank m”—ﬁm

| —— 710

-102 (9)
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ove date, il was decided to redeem at ' par /the
hare. For this purpos¢ sufficient new cquny,:fhare
d after utilizing free reserves which are
f redemption according to section

On the ab
preference S ‘
of 100 each are 1ssue

available for the purpose ?
55 of Companies Act, 2013.

SugFRT [ @ 78 fofa ferm w5 o st @7 W
T W A e Y @n g Ssw dg e
m, zo1aaﬁam55$_agwgaﬂ¥iaﬁ$’rm

_ m@wmm.maﬁmm

aﬁaqﬁﬁzﬁa‘fﬂqa&nzﬁm%maﬂﬁmml-

Give journal entries and Balance sheet after the rederption.

forar frfAcs 31 HT%f,ZOﬂ?rﬂﬁro{BTﬁ’:IW?I’

{® 8 11. Pooja Coal Ltd. has taken on lease coalfield from Santash on
. iy the following terms : [20]
e - Wﬁaﬁaﬁé@%ﬁﬁéwmaﬁ@ﬁﬁﬁfﬁﬂ
(1) ITERD I IR gee W ol
(a) IW ‘{\?ﬁ (i) Royalty on per tonne production of coal will be 50 paisa.

BIae & 9T o ST W FRSR Fob 50 T € |

2100 T 3,000 REHEE T TR ] (i) Minimum rent per annum to be ¥30,000; the lessee has a
right to recoup any shortworking within a period of three

PRI GUGIE 3,00,000
‘ . t"@ B T years for which the excess payment was made.
& Eib : ~gaE fvrn 30,000%. Aif¥E § TECTR Bl TS
iy by 1,50,000 iR B i fed ) @ @ wged A B 9D
A SRR 1,50,000] o 3 A9 @ e ¥ ¥ TYE R wedl &
P& Lol 10,000 (iii) In case of strike the minimum rent payable would abate
i . . proportionately. -
@ a:'m gedrd ﬁw_ﬁwm‘ﬁamm%m
(a) MR SaRar : fafdy FeR  fear S|
(iv) Following is the production of different years (in tonnes):
. T - e 7t 1 e (e %) P &
{(:)) W R’T:Qf?f Year (ad) Producﬁon(ﬁﬁﬁ)
S 2012 20,000
2013 i th)
Z tee three mon
C-102 (10) I 30,000 (Strike thre
: p.T.0
fC102 (11)
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v)

2015 70,000
2016 80,000
2017 1,00,000

In the year 2014 there wz;s strike for 3 month.
a4 2014 ¥ I AE 9 gedTS BY |

You are required to show the Royalty, short workings and
Landlord’s account in books of Pooja Coal Ltd.

mqy:naﬁa%rﬁéaa%gﬁaﬁﬁar@ww
gm,mvr@r@m,ﬁ—wrﬁmmﬁwm
4

12. What do you mean by Investment Account ? What are the
objectives of Keeping Investment Accounts ? Give Journal
entries with imaginary figures. (Related to purchase and sale
of Investment). [20]

faffarT @ 9 @ smem 77 fafar @ e & &
TSI 87 PIUfIh THBI A AeIS Siel yiafear iy
(spu T fawma & W=y #) |

C-102

(12)
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C-106

C-106

B.Com. (Part-1) Examination, 2018

BUSINESS MANAGEMENT

Fiest Paper
(Principles of Business Management)

lime allowed : Three hours
Mavimum Marks 100
Section-A (Marks : 2 x 10 = 20)
Answer all ten questions  (Answer limit 30
waords), Each question carries 02 marks.
WUE-3T (31®H : 2 x 10=20)
UHE T Yl @ 39 Gl (I WA 50
V) | YRNE WY 02 afFh) w8 R
Scction-B (Marks : § x 5= 40)
Answer all five questions out of seven (Answer
limit 200 words). Each question carries 08
marks.

YUS-T (3 : § x 5= 4()

QR O vl ® sw AR (e
L 200 URK) | YAF YW 08 36w S

Section - C (Marks ; 20 x 3 = 40]

Answer any two questions out of four (dnswer

limit 300 words). Each question carries 2
marks. -

WUe-1 (a7 20><2=40)

BRI i T S
HIH 500 WR) WeAE W 20 s w

(1)

Scanned with CamScanner
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SECTION-A

ug-H
Attempt all questions.
FefaRa ol vt o7 9w AT |
(1) Define Management as a process
I T afbar R, awemy |

(i) What is Scientific Management ?
INE gy g 2
(i) What is the Basis of Planning- Forecasting ?
N s & STHR—Yafgar a7 & ?

What is the meaning of coordination ?

What is the Principle of Exception ?
ST BT Rigr gy @ ?
V1 What is span of contro] 2

ST B R w g ?
What do you mea

What

(vif)

n b) Unity ofDlrccnon’ ?
{viii) i upward

‘ i communicarj
tommunication © unication  and  downwarg

2]

T

V9 ST} myoy R g ?
| Vhat do voy understand bv Ieaderbhxp ?
RIRRIN L

is : ivat
positive nmmatlon ?

4] g_"_

[2]

uTrr_P__r

—
o
b

(2,

9

2 |

(2]

{ SECTION-B
L Fog-a

; Attempt any five questions.
Ppst o g B I F|

E ioid’. Clarifying
iples of management arc flexible. not rigid”.
“Principies

nagement. (8]
t. describe any five pnncxpleq of manag
‘the statement,

ERS) FoA B
g 3y 8 B i‘?‘r"dﬁl ESCE

o - D p S nv \ Cd

we
.

in planning.

~ \.1?{%_6
mwﬁ%?ﬁﬂmcﬁm«s i1
and \

P

Wmﬁmml

ation
What do you mean by Organiza
of org,amzanon

Wﬂ&(ﬂﬂ

;e
9 Discuss the jmportanc

(8]

W%?Wﬂdsmﬁﬁ\ﬂﬂ

" e |

“ter 7
thority *
gon nf au '
>centralisd nd
hat de you understand b‘,bdtu"een dnumralmllon
What y o

. -
lain the difte_rcncc :
EZIP; gation of authority-

i
What 18 the meaning of
direction.

IEERI] Eafcedl

of
meaning
hat 18 the o
\3 {ference petween form

cull
e A0S
SWW
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8. What 1s
wnportance of change management.

R e 9 aar s & ? IRa T B e ™ ®

Note ;

P,

10.

11.

12.

the meaning of change management ? Desc,‘

{

SECTION-C
TUg-u

Attempt any two questions.
fr=dl & 7ol & IR 3 |

“Management is the development of men, not the direction

things”. Discuss the statement and explain the importance ¢
management. [20
Wy il w1 Aeni 8, 9 5 awgell & ﬁé“zm”sﬂ
q»ammw@qua«atﬁﬂsmaﬁWWl |

Define coordination. What is the difference between
coordination and cooperation ? Discuss the importance of
coordination in management. [20]

A D1 RIS BT | T7aa 7 FeebiRar § @ e
& ? Y W AU BT A8 e |

“Control is a fundamental management function that ensures
work accomplishment according to pians”. Analyse this
statement and outline the essential steps involved in the
control [unction. [20]

ﬁmvrwaﬂm{amaa?uam’i% ST ISl & 3RIR
PRI B HWa g €| T eYe @ fRvemy
DI | o0 &t # RS omawrd Feat @) e
GIfoTY |

Explain the meaning of motivation. Explain clearly the
Maslow’s need hierarchy theory. How does it differ from that
of the Herzberg’s two factor theory ? [20]
SARRT © el Bl TSV | ARl & HAIGEHAT Gz
CRISCIE ‘ﬁ‘rmméwr?mugﬁwa%a‘rm
RERyRT ¥ f5d JeR A= & 7
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C-107

B.Com. (Part-I) Examination, 2018

BUSINESS MANAGEMENT
Second Paper

(Business Law)

Time allowed : Three hours
Maximum Marks : 100
Section-A (Marks : 2 x 10 = 20)

Answer all ten questions (Answer limit 50
words). Each question carries 02 marks.

|Ueg-37 (31 : 2 x 10=20)
oTE =9 WA @ IW QS (SWOEHE S0
=) | T W 02 i H T

Section-B (Marks : 8 x 5 =40)

Answer any five questions out of seven (Answer
limit 200 words). Each question carries 08
marks.

@Us-d (31 : 8 x 5=40)
e ¥ fa<l ae W & IW N (IW
T 200 W) | YE I 08 K] H

Section — C (Marks : 20 x 2 =40]
Answer any two questions out of four. (Answer
limit 500 words). Each question carries 20
marks.

WUe-9 ( 3Tk : 20% 2 =40)
IR H ¥ &= 91 oyl @ sw dfew (W
|l 500 ¥=R) T T 20 SART H T

Scanned with CamScanner



. SECTION-A
Qug-3A

1.  Attempt all questions.

PrfRed @t geA F1 SR A |

‘ ®
(i1
(iii)
(@iv)
)
(vi)
{vit)
(viii)

(Ix}

C-107

What is a void agreement 7

of gevrg T8 7

Define coercion.

Sedred o1 v <R |

What is actual performance of contract ?
a1 ARl e e 7
What is wagering contract ?

ST P GERIG wTE ?

What is continuing guarantee ?
=T RS FT & ?

What do you mean by sub-agent ?
TU-TST W T T FHI § 7
What is right of lien ?

Define limited liability partnership.
Define “consumer’.

who can be appointed as president of the district

(2]

(2]

(2]

(2]

(2]

(2

& *~**Wﬁzﬁvﬁqﬂﬁmﬁg—ﬂ@,—mm

A S

SECTION-B
gues-d

Note : Attempt any five questions.

forel dfa wel B SR < |
Distinguish between void and voidable contract. (8]
of T @i e # IR WE B |
Explain ‘capacity to contract’. [8]

‘S B BT & DT FHEEd |
“Impossibility of performance will discharge the contract™.

(8]

Comment.

“ﬁwaﬂaﬁmﬁﬁaaduﬁmﬁmﬁ%l"ﬂvﬁm
BT |

Distinguish between indemnity and guarantee. [8]
1Y R&T U TRSY arde # SR qargd |
Explain the difference between a company and limited
liability partnership. (8]
e i W g WEER # IR e HAC

(8]

What is the jurisdiction of National Commission ?

IS TART BT AARSR T € ?
When can a breach of condition be treated as breach of
warranty ? 8]

mﬁmaﬁwwmwmm%?

P.T.O

C-107 (3)
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SECTION-C
G us-d

Note : Attempt any two questions.

10.

11.

12.

[l & uedl & SR 9|
Define the term ‘Proposal’. Explain with illustrations the

provisions relating to a valid proposal. [20]

’mm’a%qﬁmméﬂﬁm%}awwreﬁﬁuﬁzﬁmawﬁ'
DI ISTEXT Afed THSy |

State the rights and duties of an agent towards the principal.
[20]

ol & 399 U9 & Ui S1feR Ud dded 9aigy |

What is meant by ‘unpaid seller’ ? Explain the rights of an
unpaid seller. [20]

I fasbar ¥ T AR & ? U Iew famhar & SReRI
P T HIOTT |

What is a Limited Liability Partnership ? Explain its
characteristics. [20]

AT <gar IR |/ 8 7 39l favmdel el e
BT |
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C-103
B.Com. (Part I) Examination, 2018
ACCOUNTANCY & BUSINESS STATISTICS

Second Paper
(Business Statistics)

Time allowed : Three hours

Maximum Marks : 100

Section-A (Marks : 2 x 10=20)

Answer all ten questions (Answer limit 50
words). Each question carries 02 marks.

Queg-3T (3T : 2 x 10=20)
IR g9 99 & SW AN (SW Em 50
W) | YAF YU 02 3h H1 el

Section-B (Marks : 8x5=40)
Answer all five questions. (Answer limit 200
words). Each question carries 08 marks.

| Qug-q ( 31k : 8 x 5=40)
| ¥ ¥ = o a9 SN (s
T 200 VR) | VAT WA 08 FHF W R
Section — C (Marks : 20x 2 =40]

Answer any two questions out of four. (Answer
limit 500 words). Each question carries 20

marks.

P B Y : / 4\
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T .9 2.:.40
auz-m (3% : 20%2=40) 3

aw E @ fE @ v @ I A (W S & bxy = 022 3R byx = 0.87 & & FEwE Erw
< 500 W) FE T 20 3 2 (5 gt S ZR |
(xi) Write any two limitations of Index Numbers. 2]
SECTION-A Hahid Bl Brs & AT AR
gus-A : (x)  What do you mean by seasonal variations ? 2
1. (i)  Write any two limitations of Statistics. 2] AT f=Ro g 39 07 969 § 7
i @ T a1 WA farag | SECTION-B
(i)  Meaning of questionnaire. 2] |ug-4
e gl ol | 2. Convert the following into ordinary frequency series 81
(iii)  Write any two objects of Tabulation. 2] 5 Students get less than 4 marks
WRAE T B¢ 31 $ged fafay | 12 Students get less than 8 marks
(i'\') What is Airthmatic mean ? | 2] 25 Students get less than 12 marks
TR 9 59 FEd § ? 36 Students get less than 16 marks
()  Meaning of Dispersion. 2] 40 Students get less than 20 marks
Frufeer &7 ek | 45 Students ge: less than 24 marks
. .= 50 Students get less than 28 marks
(vi) Give X.= 200 ; co-efficient of variation = 8 ; Karl o= 1 R gl S # aefe
Pearson’s co-efficient of Skewness (G) =03 . .
Calculate mode (z). 2] 5 frenfora aﬁ 49 T 31?5 LR
ﬁ:‘ﬂm%‘m(ihmmﬁamgvﬂm:s; 12%@@5@@@%@
Eﬂéﬁaﬁmﬁmw(j)zoswwm 25 frenfidi @1 12 § FH 3@ W T
?ﬂ%’?‘ ' 36 faRi @1 16 A T¥ 3F T |
i (vii) What do you mean by negative correlation ? [2] 40 foenfidi @1 20 | B A’F WG T
' RIS T~ | A9 g7 ey & 7 45 faenfia @1 24 | T 3B WK
(viii) If bxy = 0.22 and byx = 0.87 then find the value of 50 fefial &1 28 ¥ T IAF W Y
coefficient of correlation (). - 2]
G103 (2) C-103 (3) PRS
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3. What do you mean by 2 good table ? Give the various typed .

of tables. [4+4) : 1 2 3 4 5
Waﬁwﬁﬁmmmﬁ%?ﬂwﬁﬁ%ﬁmj Y3 4 6 9 10
gHR gdrse | ’ 6. What is Index Number ? Mention importance of Index
. Numbers. [4+4]
4. From the following data, calculate coefficient of standarg ) )
= aAGiS T 8 ? APIDI B HEd ;
deviation : [8] Ed BT GO B |
Income in Rs. No. of Persons 7. What is statistical sampling ? Describe the various methods of
31 and above 1 statistical sampling. [3+5]
26 and above 5 el ufte @ & ? wikerd whEma @ A
21.25 20 Aferdf 1 avf Her |
11-20 43 3. Fit a straight line trend by method of least squares. Find the
6-15 ) 25 estimated income 0f 2018 : [8]
Under 10 12 Wﬁ%%mmwﬁmmlzmsﬁ
Under 5 5 9 wfead M T FERer ST -

Years : 2009 2010 2011 2012 2013 2014 2015 2016

i Aol F FAY i9hed Tﬁim A HIT -

N e B @ " Income: 38 40 65 72 6 60 87 95
31 UZ S99 SOEl 1 (Rs."0000)

‘ |
26 U8 SEY ULl . SECTION-C |
21 = 25 TF |uE-| |
i s 20 \i4 20 ‘
1% 20 99 43 . Calculate mean, median and mode from the following data : ,
o = 4= Foo - 7-.- {
5§ 15 @ 25 [6+7+7] |
. 109 % 12 A gHET § WEd, FEOeT AR 9gae S S
o & i ) i !
= = 5 Mid value: 3 15 30 475 515 10 95 ‘
| s Aafa Sl Frequency: 3 9 16 10 4 5 3 i
data, obtain two regression equations (8] s ]
7 ] TR WHER ST SIS j
(4) 103 (5) P.T.0 4
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10. Differentiate between Dispersion and Skewness. What ge the.
various methods of measuring skewness ? Explain. [ 10+10']
ﬁm@Wﬁaﬁﬂﬁlﬁwmaﬁaﬁqm
R Rfal & 7 R o]

11. The follewine iable gives the distribution of the to i
population and those who are wholly or partially blind amon:
them. Find out if there is any relation between age an
blindness : [20
e RO qe SRRl GO SEH ¥ g0 B0 W e
SR ®T ¥ o afidal Bl fIaRY aaenRd €1 3R 3
3R AT @ S P FE—TE 8 A S PN
Age: 0-10 1020 20-30 30-40 40-50 50-60 60-70 70-8
No. of Persons : 100 60 40 36 24 11 6
(in*000)

No.ofBlinds: 55 40 40 40 36 22 18 |

12. Construct the consumer price index numbers for 2017 on it

basis of 2016 from the following data using the family Budg
methods : [2
Items Quantity Unit Price Price
consumed 2016 2017
in2016 (Rs.) (Rs.)
Rice 4Quintal  Quintal 50 70
Wheat 3 Quintal Quintal 60 90
Sugar 20 kg. Quintal 500 800
rulses Ske. Quintal 200 300
Clothing 20 Metre Metre 10 15
House Rent One . House 50 150
Fuel 40 kg ke. 2 4
il 10kg. Quintal 400 700
103 (6)

%Wﬁmﬂa‘?mzme?ﬁmwmﬁmﬁam

faflr @ i 1 v e

™Y . 2016 # e T "=
Fd TG 2016 2017
(%) )

gt 4 el g 50 70
g 3ga gad 60 90
EINll 20 . 7 Fad 500 800
el 5 f&. T g 200 300
HST 20 HeX AR 10 15
7oE iR @ "B 50 150

LEic] 4 f&. . f& 2 4
GG 10 fe . FEa 400 700

(7)
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C-113
B.Com. (P

art-1) Examination, 2018
E(",‘()N()Ml(j

AI)MINISTRA'I‘ION & FINANCIAL
M/U‘JAGEMEN'I'
Second Paper

(Economie Environment in India)

Time allovpe - Three houys

Maximum Mearks - 100

SECTION-A (Marks : 2 x 10= 20)

Answer. all ten questions  (Answer limit 50

words). Each question carries 2 marks,

U - 3 (318 : 2 x 10 = 20)
W @ UR @ STR AR STy @ s
WSS | URAF I 2 3F BT |

| SECTION-B  (Marks : 8 x 5 = 40)

Answer any five questions out of seven (Answer
limit 200 words). Each question carries 08 marks,

qUs - g (3% : 8x5=40) \
'%ﬁ#fﬁ'tﬁauﬁa}wéﬁ?(w
AT 200 Wg) | OAd U 08 A T 7|
SECTION-C (Marks : 20 x 2 = 40)

Answer any two quc‘stions out of four (Answer
limit 500 words). Each question carries 20 marks.

@vg-q§ . (37F : 20 x2=40)
ar % § Rl @ o @ I AR (G
=T 500 e | IEUD WL 20 3 B R |
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1. (1)

(in

(1i1)

(iv)

™)

(vi1)

SECTION - A v

T -
L]

Mention the Characteristics of Economic Environmt 2)
STEE TR B RPIwaTg qarsy |
What is an Economy ?

Hefoawn Y osd § ?

What do you understand by the term Human Resource
Development ?

(2]
e SeA OEN &1 ey g ot whew € ?
What do vou mean by Human Capital ? 21
wEE IOl R ST 91 AN § 7
What do you understand by Duncle Effect ? 2]
Zool shee § oY & 9EEd © 7
What do vou understand by Land Reforms ? 2]
HE R ¥ oy T GAS B 7
i o c1~dian Foreion Trade 2]
“Mention the size of Indian Foreign 1rade.
aE & fesh R @1 AER ALl
} ational Corporation ? 2]
What are Multinational Corpor: ?
at =1 fors & g7
- whi ? [2
Rajasthan is the chief producer of which crop !

1 fore B @ SaTed 87
FGE IR R E RS ] HEel @f 13331 Ied 8
| power are located 1M

(2]

Where the sources of therma
Rajastban 7
&t fareger sy €1 T g7

7] H Fal—-Ddb

’ SECTION-B

gz — 9

. 8jow Economic Systems affects the economic environment of

a country ? [8]

i gl e s @ AT aTTRer @ R WeR
wTaT Rl 8 7

3. Briefly measure the financial results of economic reforms of
the Modi Government. [8]
A WeR & e GERl . e aRemEl w1 R
Ipe HIIg ?

4. Mention chief sources of finance of our plans. [8]
A Aol & O & T W 9agt |

5. What is disguised unemployment ? I8}
B g5 Rorm T E 7 N

6. Discuss the “Credit Problem™ of Small Scale and Cottage
Industries. [8]
&Y T GER SN B R G S BT |

7. What are the main irends of Indian Foreign Trade ? [8]
wRa & e @R A e g @ s ?

8. What do you think about the following ? [8]
(i) TForeign Direct lnvestment (E.D.L)
(i) Foreign Institutional Investment (F.LI)
(iii) Portfolio Investment .
(iv) Domestic Institutional Investment (D.LL)

P.T.O.

C-113 (3)
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10.

11.

12,

Frstifea & an ¥ iy /T SR g7 K
(i) vieuer facely ferder (beir‘ﬁaﬂ_gf)

(if) [l aermre fFraer (Tw.ars.ene)
(iii) drEwmfern fAder

(iv) BN ERTTd a9 (Sramgang)

SECTION-C
g — ¥

Define economic planning. Give the essential conditions for
success of economic planning. [20]

eqmﬁaﬁma%uﬁ:ﬂm*rﬁmwﬁfﬁﬁ?ﬂmcﬁw ~
BT JMAYTD I GaATSY |

“Growth Rate of Population must. be substantially reduced if
standard of living of common man in Indla i1s to improve:
rapidly.” Critically examine the statement. [20]

ﬂﬂ?ﬁfrﬂmmﬂmcmmlqdwaﬁﬁ?ﬁ’jww%a‘f
mwaﬁq%aqﬁaﬁaswﬁﬁwm%m 9 A
BT AT YT B |

Critically analysis the management and functions of Riico. [20] .
Rel (Riico) & warer vd wrl &1 ameiremTeqs favemo
PIFTY |

Determine the position of the state of Rajasthan in Indian
Economics. [20]
VISR NS0 &1 qRa @ eifagaven v fwiRa
IRTY |

Scanne d with CamScanner





